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Lonhnued .
@ Suppose that £ 15 an entive funchon satishyirg l/t"'fmhf(t)h P Prove Heact £ £9

5 a polynemiad.
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conhnued. ..

@ Let £ Do € be an analyhc Rnchon. Assume tat @£\ for all 2 e N

Pf Sinte £ hat a zero of order m=1, we have oot

and that £ has a 2erv of order m=1 at the ongin, Show that [£(2) le\m
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Rrd a confovmal Mapping from DN{z: Rhe2>0f ontr +he wedge
[2€C : 0¢< I (2) ¢ Pe(2)t.
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Conhnued. -
© Suppese that f is analytic and one-fo-one on a domain U. Prove +nat

does not have z2erss on U.
P Assume by woy of contadiction that thert exists 2,€U such +pat

1)+ 0.
since { 1S analytic aty,, we can wnte fas a converpent power Ser7€s

conbered aF 2.t FE)= @, + 4, (2-2) + (82 "+
Note that {'(z)=a,+2a,(2-2)t..
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Then f(z2)= £(2) + R AT I
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Then +pere exists keZ, K22 such that 9(2)= (2-2,)" h(2),
where h s W\a{yﬁc and Nonter? in a nbhol of z,.
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LA(C( ) .
Let F(2)=T cos(wz)
2% sin(mra)
(2) Aind all poles of F and compute the residue of F at each pole.
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